: St:dent: }Za-)oio é?ro!mﬁom / me«ajcﬂg”

e 06 Keview Study Guide

1. What is the area of the figure below?

REER o EEERREREEREENANL

|
Y

T NE. \"4}%@3) N

A 21 units2

@ 33 units2 %LJ
C. 42 units?

D. 52 units2
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2. Danisha formed a right triangle out of two right triangles and a rectangle as shown below. )

o 20%1% j;l{ (20X

7

l
I

Which expression can be used to find the area of Danisha’s triangle?

A A= (P0%25)
B4 - %(20 30 w5 285

C. A = (20 x15) + (15 x 30) + (30 x 25)
@ e %(20 x 15)+(15 x 30)4%(30 x 25)

30 ft ; 20 . ] 6
What is the area of the playpen? % ” %
A 225 square feet ﬂ_
315 square feet

C. 630 square feet
D. 3150 square feet
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4. The dimensions of a right rectangular prism are shown below.

0 \olum? of ggﬁ){mﬂe/lb

| 25, &

,\/

Lo L
1l E p
21 3 1g|n. Z/ W
o i
@Ww'nw =
How many cubes with side lengths of % inch are needed to fill the prism /bhi/
without gaps or overlaps? : } ,{, Wiw
] ) ,-l--- -,L B 'b}ﬂ;(
A 36 cubes /(0 v y 02/“/
G pp/ ﬁiLmej

B. 91 cubes @ GDHi(J@ Yhe
C. 216 cubes ’(/WD Yo[um&f

546 cubes i f%’ﬁp
s

5 A rectangular prism has the following dimensions:

e Length: 91;[
. Width: 10?& 2 g ,70%'75
® Height: 7‘511 qvlo'g 57

What is the volume of the rectangular prism?

& 7082 t°

> 48111t

3
C 1gaft
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6. A camera company packs each camera in a cube-shaped box with side
lengths of %-ft. Then the company ships the cameras in a container with

dimensions of 1% ft by 2% ft by 1% ft. What is the maximum number of

camera boxes that will fit in the container? e
(D shigriny

O p\\(\fy 57@ i W B i
e e Yolumes M iy P |

7. The coordinates for three of the vertices of Rectangle LMNP are given below.

L(2. 4), M(4,2), N(=1,-3) @ (jm h | th

:
o ard

1 3 EI 5 1 Uﬁo ,;X\w/)” JL

3 } A+
A A Dpd ane
i1 A A ‘ m‘\ss‘mf(

'BE 4 g2l 2 § 5 7 9 "

..... ; }._% F-ol Vl‘t
D I 3 0 I 5 o

:

p

What are the coordinates of Point P?
A@G)

B (-2.-4)

C. (3,1

® 3.-0

8. Seth plotted the coordinates (1, 1), (1, 5), (5, 1), and (5, 5) on a
coordinate plane. He connected each point in that ordeg. He drew an
additional line connecting (1, 1) and (5, 5). Whictbshape

A a square and a rectangle 4y
B. a rectangle and a triangle 3
@ two triangles X
D. two rectangles !
i (R OO, [ 1A
I 1 i ¥ |
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9. Three of the vertices of rectangle GHIJ are located at G(5, 1), I("1, ~4),
and J(5, “4). What are the coordinates of vertex H?

A (1, 4) JL
(£
i g,
e (1, 4) i %
("1, 71) ﬁ# /bhy mv‘sgw\f.
L vv“{,‘ﬂfﬁ{ -y 2
o uge vhe
- , , ans N
T L 1 [ hoite s
v [ a— ? G 'bD he 1f
A
/; ! J =
i’
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10. Which pattern can be folded on the dotted lines to make a triangular prism like the one shown
below?

AN AN 7% a7t } . b ag{z,
7 /ﬁa ﬂ} %&;T;Lﬂ%}’\ww %

?7 N ;ch\

.)S
Cw\a\r Fave
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1. Danielle bought a gift for her sister and put it in the box below. She

wants to wrap the box with wrapping paper.
A 20l =YEO

20 in.

et 1 .20 = G .

C/u\\;i ;Cru

upfate

What is the minimum amount of wrapping paper Danielle needs to cover the box?

20 A 224in.2
o.-r\l/01L B. 328 in.

2. The net of a right triangular prism is shown below.

q .
,L\% ;Q“Ll | 6q
go’ m
i QYN
Q 24 6 ft 2
[] ig 1
8 ft -
6
6 ft

What is the surface of the triangular prism?

A 288 ft2
B. 224 ft2

@ 192 ft2

D. 144 ft?
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13. What is the ratio of shaded to unshaded squares in the grid below?

=

Lol bl w il o el

4. The table shows the items sold at a bake sale.

Items in a Bake Sale

Baked Good | Number Sold
cookies 50
cupcakes 25
muffins 20
brownies 32

What is the ratio of brownies sold to the total number of cupcakes and cookies sold?

A 32
32:95 ?.?/"’
@ 32 75 Sk
€. 32 50
D. 50:75
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15. John has a collection of toy cars. He has 2 red cars, 4 blue cars, 4 black
cars, and 6 yellow cars. What is the ratio of red cars to yellow cars?

1:2 Q—:(ﬁpe(ﬂ)uéa‘l’v |: %
1:3
6. 1

16

6. In 2.5 hours, 0.64 inch of rain fell. At about what rate did the rain fall?

A 0.18 inch per hour - ‘_{ ; ant
oW inthes rad N h e
0.26 inch per hour /;—‘ -Ytdad P - lﬁrfw"‘&j ’}T)
Pl e ;
€. 0.32 inch per hour 2 9 2.5 heutrd 2L

b. 1.60 inches per hour

7. A tour bus traveled 912 miles in 16 hours. What was the average rate

the bus traveled? ) %
abwaye divide b fd

A 58 mph 2
57 mph g m.\;,s /) blnt-t Yﬁ‘if/
C. 56 mph /qj—-—‘ = 67

D. 55 mph Loler I

!\U hDUlY“'

8. Ava takes guitar lessons. The lessons cost $90 each month. She has 4
lessons per month. How much does each of Ava’s guitar lessons cost?

A $11.25 ~ A
. d}qo 4@29"60
. $12.50 R
c. $20.00 L{
$22.50
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/’—\? r‘at@ B imila = Hm:‘nutdy
Enanth 11 )

19. Fohat Terrence stepg, he spends 11 minute$ on a stair-climber. Which table
correctly represents the relationship between miles and minutes?

A Miles Minutes
11 1 i
12 2 ﬁr\d J@hv m’ho tﬁblu %
13 3 4 :
14 4 bhﬂ% }"(,‘P[dﬁ%ks ’khﬁ/
15 5
16 6 T'ﬂJ[O
@ Miles Minutes
1 11
2 22
3 33
4 44
5 55
6 66
C. Miles Minutes
i 11
2 12
Rk ¢/
3 13 ,_,,3,(/}\\5 b L”?’
i £ (orly ‘ 0Jo€f
o 0 3 kB
6 16 P ne (“/‘)n’h
D. Miles Minutes
11 1
22 2
33 3
44 4
55 5
66 6

20. Using the table below, what is the value of y when x is 20?

. 7 Tirs find Ah¢

: % b {w p
12 36 / 2 L L1WEe
16 48 ‘]-4,]'6ch$;“5 hip

20 ? .

T

Z ' A
A 58 \ ~
60 (4)\(?»0 o \n oro sy g 5
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21. The table shows the number of hours Amanda worked in one week and how much she earned
each day.

Amanda’s Work ?md ,)w\O le" Y\&{O

Day of Number Amount el ;
~ the Week of Hours Earned b d.‘ yi () (N %/
Monday 3 $36.00 6
Tuesday 6 $72.00 $ 2) v ]
Wednesday 2 $2d O‘ 3 ZLY bo na
Thursday 4 $48.00 o e
Friday 8 $96.00 ﬂ m \ } ?

Based on the table, what is one way to find the amount that Amanda earned on Wednesday? ) %
pesa Y

take $14.00 off of what she earneq on Monday 32 ‘. \N
divide Thursday's pay by 2 4B = 2 :82 q S 1 9_.

. multiply2 % 8
D. subtract $36.00 from $48.00 ;'9. L\

22. Beth wants to cover a placemat with rows of stitches, as shown below. Beth completed the first
2 rows of stitches in_hour.

-

: /AR
PR KRR T Vo
XRRRKKKX gAY pak
" '\ X,Y\WS( " b
= : )CWJ
: ) Vi %5 5
g e i -
72 R So ),ihoujz y
S I .
—— {7
C

At this rate, which estimate is closest to the amount of time Beth will take to fill the placemat
with the remaining rows of stitches?

A _lhour

2
B. 1 hour
C. ]lhours

2
2 hours
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23. |t takes Blanca 8 hours to travel a distance of 540 miles. At this rate, how many miles does @ > 7=
Blanca travel in 12 hours Uﬂ .

A 1080 @pnd thv Uni{ |
810 : < iINmi S - 10 o
360 T‘ﬂ"b@ P/' w = UT%ﬂ'F /x""

. 270 ; ghouw‘ ‘ %}Omalﬂ,&

24. Matt walked 3 blocks every 2 minutes. Ross walked 6 blocks every 13 minutes. Which

ide(‘] z 038

%) comparison of these walking rates is true?
2 s T 2 bloe kS v
\’ B V] Matt walked faster than Ross. 6 ‘7 ol e vl el LO b ‘Obkf
%( : r\ B. Matt and Ross walked at an equal rate. — e
! v} ’Ag\hx C. Mattwalked 3 blocks per minute slower than Ross. ;l wn ) I% mi n
‘“na}; \"{_ D. Matt walked 0.6 blocks per minute faster than Ross. i :
\e}'\ 'S [, b Jocks e AR }y}o&kj'
\ Mty LT, :
“\“\ ‘Q 25. A company held a taste test study with its new fruit snacks. PR ]7'&" min
\\ 500 500, -
* In the study of 1,000 students, half the students tasted a plain fruit snack and half tasted a fruit

snack with peanuts added.
* In the group that tasted the plain fruit snack, 60% said that they would eat the fruit snack again.
* In the group that tasted the snack with peanuts added, 22% said that they would eat the snack

with peanuts again.

How many students in the study said they would eat the type of snack they tasted again? A J L
#1 g : 0 % fe finc percer
g wotk of SO0 225, b SOD " pelmmbic
' oo X500 2;1“]; x 500t u [Jr J
gie 1o -' ofe iy {he

26. Which phrase describes the least value?
A 10% of 50 5

| 2%0i%2 § find The o of
Grrres \\VMW%bmmwm
the of th the B

. 27. At a school, 20% of the sixth-grade students are in the band. There are
22 sixth-grade students in the band. How many sixth-grade students are
in the school?

. 50 2 1s 20% of Whad pumbsr
110 2 il e

fluiber

~
C. 440 ‘

n‘k ’UWEWV are/

aoh 200 18 28
i\ Fad 2229 | 22 22|

TN YL P o R L
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28. The table below shows the top speed recorded for an ostrich on 4 days.

Ostrich Speeds \ k= 0 2 mibes
Day Speed s ; fie i
1 40 kilometers per hour | -0 'miL“ AMS% N m@mbar‘ ’thﬂ% “‘m

al fp & [iffle ore

2 45 miles per hour (-/ g w Tt
3 40 miles per hour p : I 571 f)’\-‘ 2/
4 50 kilometers per hour | 25 ‘o v ﬂp/{; 6&{/%
On which day did the ostrich run fastest? oF { A LAy
A Dayl  (\OW UOYHPI:MV +v 4he same unt ‘jﬂ ;
Day 2 20 miles | M
Q? Day 3 ; 46 miles Uii/(’/]‘éﬂ&(’/ all of %})0 2l y
D. Day4 2 4o mi]es hal® .
g ae e

29. Liesa wants to put grass seed on her rectangular-shaped backyard. She measured her backyard

as 80 feet long by 54 feet wide. How many square yards of grass seed will Liesa put down?
A 360 =y 5

C. 1440 __i,cft}/" KaT Wl’D'f‘(’f

D. 4U q-gg/a
30. A camel drankK 110 I"iters of water. What number of milliliters is equivalent to 110 liters? d
A 0.11 milliliter . u (
B. 1.1 millliters LA O w S ;"‘)LL
11000 mililiters R il #r ‘ % [&how tha

C.
110 000 milliliters
i LLE me ns

| (W

)7 L
l Li-tu* : f/@i& i
- 10,000 m

O
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